NATIONAL UNIVERSITY OF MODERN LANGUAGES
Department of Economics

ENTRY TEST (Model Paper)

BS ECONOMICS (2 Years)

INSTRUCTIONS

The duration of the test is 60 Minutes (1 Hours).
Write your Roll Number on each page of the answer sheet.
This test has three Sections “A”, “B” and “C”

A candidate has to score minimum 50% marks in aggregate to pass the test.
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invigilators.

o

Calculators & mathematical tables are not allowed.

7. Answers to all sections are to be attempted on answer sheets, which are being provided

separately with the question papers.

After completion of the test, you have to return question paper & answer sheet both to the

8. Make sure that you do not write or mark anything on the question paper otherwise this will lead to

cancellation of your paper.

9. You have to make a choice of one answer out of four whatever is correct in your point of view.

Make a circle around the right answer only on your answer sheet.

SECTION — A (Microeconomics)
Total Marks = 30 (1.5 Marks each)

1. All consumers want to
(&) Minimize their utility (b) Neutralize their utility
(c) Maximize their utility (d) Stabilize their utility

2. Indifference Curve represents
(@) More output (b) Less output
(c) Equal satisfaction (d) Equal output

3. Price mechanism has also been given the name
(@) Ricardian-faire (b) Laisseze-faire
(c) Price system (d) None of these

SECTION — B (Macroeconomics)
Total Marks = 30 (1.5 Marks each)

4. According to Keynes, the economy may suffer from

(@) Inflation (b) Employment
(c) Poverty (d) Unemployment
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5. If a person is willing to work but fails to get job, such situation is called
(@) Poverty (b) Inflation
(c) Unemployment (d) Employment

6. When the general level of prices rises, such situation is called
(a) Poverty (b) Inflation
(c) Unemployment (d) Employment

7. Theincrease in investment leads to a multiple
(@) Decrease inincome (b) Decrease in price
(c) Increase inincome (d) Increase in price

SECTION — C (English & Mathematics)
Total Marks = 15 (1.5 Marks each)

ENGLISH
8. This is the meal | ever had.
(a) Bad (b) Worse
(c) Worst (d) Poor
9. Lookout, there’s a car on your left.
(&) Heading (b) Approaching
(c) Guiding (d) Conducting
MATHEMATICS

10.A man pays 10% of his income for his income tax. If his income tax amounts to Rs.
1500, what is his income?
(&) 13000 (b) 15000
(c) 17000 (d) 19000

11.How much time will it take a Jet Plane to travel 400 miles at a speed of 600 miles per

hour?
(@ 1hr 20 mins (b) 1hr
(c) 40 mins (d) 30 mins

12.A woman weighed 125 pounds. After she had gained 4 pounds, lost 6 pounds and
gained 2 pounds, how many pounds did she weigh?

(@ 125 (b) 124
(c) 137 d) 134
GOOD LUCK
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